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Student ID No. Name
G <« Exponents and radicals 1lelEl1]1
Simplify the following. Simplify the following.
El
a) 272 = - 1 s 2=
t &) (9) =9 .
b) (-4)° = | /
-3
, b eys= 27 =3
0 (=27%=—7%
5 0 2
d) 0.172= (00 o 9H™ = 4= =27
-, 4 - r
d) 2773 x 98 = (33) 2¥(39)* = 37 %3 - =
Simplify the following, asuminga > 0 and b > 0.
3 Y 1 -+ .4
a) a?xa®= Q& o) 4 xgdxst= (29)2x(23)3A2%) T2 2* =/2
b) aSza?= Q7%
1\ . /1y % ‘I;'H;: L /=
B O - 22=(2
9 @)= a " (3) () = = 2
-3 3
d) @ H3=a b
(6] Simplify the following, asuming a > 0 and b > 0.
a) (@3a~)* = &6' =2
Simplify the following. ’
2 AL
a) V/-64= —4 b)adrad= ¥ % - 4"
b) ¥—0.001 = -0, | %— 1,2z
0 Gah)ixad=(2)"a*3* 2 = 4a
) N2’= 2
|
34— - 3Va
d) J0.01x ¥0.1= 0./ d) 9a3p2)2= 3243 b =
— / 3
e) 337 +\3/§:5 e) (a—%)—%+a%= a’zﬂ’z_ = &,—’:?‘L'
f) V256= (25
g) A v 9 Simplify the following, asuming a > 0 and b > 0.
B 1 _
a) @t-atr= A -2-az.a*+a”
5 ) ~2 -~ a-2+44
Simplify each of the following, and express it with a ra- a = a-2 a
tional exponent. Here, we assume a > 0.
L 1 1., 2 1 SN —3"_ 3
a) Ya= Q3 b) (@3 —a @3 +1+473) (a%) —(a *)
5 =a—+a}’+|—ﬂ,’f~0;—a’5: 4 -a =a‘_L/
b) (Vay’= A* = a4+ -] 3-a3 : A
5 1.3 Jd 3, jE A
o Ya5= G# 9 @-by+ @ —sh=((@3) = (b3} (43 -43)
3 2 J 4L 2
oL __ g% = g% + 435+ b3






